Sequence and Series ol
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Chapter Review

Fv Sequences - What Are They?
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P Series - What Are They?
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fv Summation Notation - "Sigma"
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Summation Notation - Examples
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\fw Formulas For Special Series
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Review

1. A sequence is a collection of numbers with a
pattern. However, in mathematics the definition of a
sequnce is more detailed.

2. A series is the sum of a sequence.

3. A sequence and series can either be finite or infinite.

3. A factorial is an operation that is often found in very
important squences in mathematics. Examples:

5! = 5*%4*3*2*]1 and 0! = 1.

4. Summation Notation - "Sigma" is a convenient
notation used for the sum of terms of a sequence.

5. Formulas for special series are more efficient
methods to finding the sum of many terms.




Arithmetic Sequences and Series

Arithmetic Sequences and Series - What Are They?
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P Finding The nth Term of An Arithmetic Sequence
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Examples: Finding The nth Term of An Arithmetic Sequence

Find a formula for the nth term of the arithmetic sequence
whose first term is 2 and whose common difference is 3.
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P How to Find The Sum of An Arithmetic Series
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Review

1. An arithmetic sequence is a sequence where each
term is separated by a common difference.

2. Every arithmetic sequence has an nth term in the

form of: a.=a + (n-1)d

3. We can find the nth term of an arithmetic sequence
by using the general formula (above).

4. We can find the sum of an arithmetic series by using
the formulas:




Geometric Sequences and Series

P Geometric Sequences and Series - What Are They?
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fv Finding The nth Term of A Geometric Sequence

9.
2’/ L}' %l ”’I 31’/' ey

LI I T I |

Qﬂzﬂsamg a

’ * = .

~

E\fe" \' ge0ma;l’rc(. Setku.edce
has an A deem in Ahe

form of
n—1
a. =ar
2,4,% ) A
1
7
feg= W how do we £iwd A -
2 Wl we need -the
a“=- -Gormv\(a.
n-|
=ar IS-1
a = 2L(2)

14
as =2 ()
ae = 26389

0, = 31768



Examples: Finding The nth Term of An Geometric Sequence

Find a formula for the nth term of the geometric sequence
whose first three terms are 5, 15, 45. Then find the 12th term.
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fv How to Find The Sum of A Finite Geometric Series
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Review

1. A geometric sequence is a sequence where each
term is seperated by a common ratio.

2. Every geometric sequence has an nth term in the
form of: \
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Infinite Geometric Series

P Infinite Geometric Series - What Are They?
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fv How to Find The Sum of An Infinite Geometric Series
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Review

1. An infinite geometric series is a geometric series
with infinite terms that has a finite sum.

2. We can find the sum of an infinite geometric series
by using the formula:
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The Binomial Theorem

Vw Review the Patterns of a Binomal Expansion
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r Pascal's Triangle
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Binomial Coefficients - What They Are and How To Find
Them
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Short Cut To Keep In Mind...
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Fv The Binomial Theorem
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Fv How to Find a Single Term of a Binomial Expansion
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Review

1. The pattern of binomial expansions form Pascal's
Triangle.

2. Binomial Coefficients (which are the numbers in
Pascal's Triangle) can be found by using the
formula: o

Gow — )
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3. The Binomial Theorem is used to expand any
binomial.

4. We can find use the Binomial Theorem and binomial
coefficients to find a single term of a binomial
expansion.




